
  Ghostbuster 
 

GHOSTBUSTER 
  Property of .  Do not disseminate. 

E A:  What's missing?
G
E B 0 8 3 9 4 2 7 4 1
H 5 7 9 1 8 3 9 0 5
A 6 2 4 7 0 5 6 2 8
E
A 3 0 8 9 5 3 6 1 8
H 7 5 2 4 6 7 0 7 2
C 1 9 6 8 2 1 5 3 4
G
E 8 1 9 3 7 0 3 9 7

E G C H H E F E B F D 4 2 5 5 9 1 4 1 0
E F E B F D 3 6 0 6 4 8 8 2 6

E

B:  Single closed loop C:  Kakuro / Cross Sums D:  Sudoku.  Solve for ψ.

3 2 30 16 1
1 3      13      

4
30 1 2

1 3 25
3 2 4 ω

1 3 11      10      
4 ξ

3 2 20 * ψ
8 ζ

E: Symbols are 1‐9. F:  Minesweeper G:  Mastermind H:  Fill in with numbers, 1‐11.
Solve for ε. Given relations are linear.

2 2 B W
η ∗ φ = δ 4 5 5 1 8 2 9 1 1 9 is below 5, and left of 6.
ε + η = β 2 7 5 4 3 1 1 1 is below 4, and right of 11.
γ / α = η 3 6 5 9 3 8 6 1 1 * 8 is below 10, and right of 2.
φ + φ = δ 8 5 6 2 0 1 6 is above 7, and left of 3.
ι − χ = δ 7 4 2 5 0 1 2 is left of 4.

3 9 4 6 0 1
_ * _ _

 


